

## SOLUTIONS 1990 AJHSME

1. C In the smallest such sum, the two smallest digits are in the hundred's places, the next two digits in the ten's places and the two largest digits are in the one's places. One example is  $468 + 579 = 1047$ .

**Query:** In how many ways can this sum of 1047 be achieved?

2. A An increase in the tenth's place gives a larger value than an increase in any of the other decimal places. Since 1 is in the tenth's place of .12345, (A) is correct.
3. E Each shaded piece above or below the diagonal is matched by an identical unshaded piece meaning  $\frac{1}{2}$  of the total area is shaded.
4. E From the way we multiply whole numbers, the unit's digit of the square of a whole number is determined by the square of the unit's digit of that whole number. The possible squares of unit's digits are:  $0^2 = \boxed{0}$ ,  $1^2 = \boxed{1}$ ,  $2^2 = \boxed{4}$ ,  $3^2 = \boxed{9}$ ,  $4^2 = 1\boxed{6}$ ,  $5^2 = 2\boxed{5}$ ,  $6^2 = 3\boxed{6}$ ,  $7^2 = 4\boxed{9}$ ,  $8^2 = 6\boxed{4}$ ,  $9^2 = 8\boxed{1}$ .  
Note that 2,3,7, or 8 will never occur as the unit's digit of a square.

5. B The desired product is about  $\frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2} = \frac{1}{8} = 0.125$ .

OR

The desired product is about  $(.5)(.5)(.5) = 0.125$ .

6. D All of the choices, except (C) and (D), are near 13,579. In (D), the result is the product  $(13579)(2468)$  while in (C) the result is much less than 13,579.
7. C For the product of three numbers to be positive, either all three of the numbers must be positive or one must be positive and two must be negative. Since there are only two positive numbers, only the latter case is possible. Thus the largest such product is  $(-3)(-2)(5) = 30$ .
8. D The sale price was  $\frac{3}{4}(\$80) = \$60$ . Thus the tax was \$6 and the total selling price was \$66.

**SOLUTIONS 1990 AJHSME**

9. D Five of the fifteen scores [77, 75, 84, 78, 80] are in the "C range", so the desired percent is  $\frac{5}{15} = \frac{1}{3} = 33\frac{1}{3}\%$

10. A Since the date behind C is one less than that behind A, the date behind the desired letter must be one more than that behind B. This date is behind P.

11. E Since 11, 12, 13, 14, and 15 are on five of the faces, the number on the remaining face must be 10 or 16. In the first case, 10 must be on the face opposite the face with 15 which is impossible since  $15 + 10 = 25$  would force 14 and 11 to be on opposite faces. Thus 16 is opposite 11, 12 is opposite 15, and 14 is opposite 13. The sum on each pair of opposite faces is 27, and the desired sum, is  $3 \times 27 = 81$ .

12. B One-fourth of the 24 numbers in the list begin with each of the four given digits. Those in positions 1 - 6 begin with 2; those in positions 7 - 12 begin with 4; those in positions 13 - 18 begin with 5. Thus the desired number is the fifth one beginning with 5: 5247, 5274, 5427, 5472, 5724, 5742.

13. C The first ounce costs \$ .30. The additional 3.5 ounces would cost  $4(\$ .22) = \$ .88$ . Thus the postage was  $\$ .30 + \$ .88 = \$1.18$ .

14. B Since one quarter of the balls are blue and there are 6 blue balls, there must be 24 balls in the bag. Thus there are  $24 - 6 = 18$  green balls.

OR

Since one quarter of the balls are blue, three quarters of them must be green. Thus there are three times as many green balls as blue balls, so there are  $3 \times 6 = 18$  green balls.

15. E The total area of the four squares is  $100 \text{ cm}^2$ , so the area of each square is  $25 \text{ cm}^2$ . Thus the side of each square is 5 cm and the perimeter of the figure is  $10(5 \text{ cm}) = 50 \text{ cm}$ .

16. D By grouping as shown below, there are  $\frac{199+1}{2} = 100$  groups of 10 for a sum of 1000:

$$[1990 - 1980] + [1970 - 1960] + \dots + [30 - 20] + 10$$

**SOLUTIONS 1990 AJHSME**

17. A The number of cubic feet is  $3 \times 60 \times \frac{1}{4} = 45$ . Since there are 27 cubic feet in 1 cubic yard, there are  $\frac{45}{27} = 1\frac{2}{3}$  cubic yards of concrete required. Thus 2 cubic yards must be ordered.

OR

Since 3 feet = 1 yard, 60 feet = 20 yards. Also 3 inches =  $\frac{3}{36} = \frac{1}{12}$  yard.

Thus  $1 \times 20 \times \frac{1}{12} = 1\frac{2}{3}$  cubic yards of concrete are needed, so 2 cubic yards must be ordered.

18. C The original prism had 12 edges. Each "cut-off" corner yields 3 additional edges, so the new figure has a total of  $12 + 8 \times 3 = 36$  edges.
19. B In order for the fewest number of seats to be occupied, there must be someone in every third seat, beginning with #2 and ending with #119. There are a total of  $\frac{120}{3} = 40$  occupied seats.

OR

Consider some simpler cases and make a table:

Number of seats in the row:	3	6	9	12
Number of occupied seats in the row:	1	2	3	4

In each case, the middle seat in every group of three seats must be occupied, so the desired number of occupied seats in a row of 120 seats is  $\frac{120}{3} = 40$ .

20. A The difference between the incorrect sum and the actual sum is  $\$980,000 - \$98,000 = \$882,000$ . Since this difference is equally shared by all 1000 families, the difference between the means is  $\frac{\$882,000}{1000} = \$882$ .

SOLUTIONS 1990 AJHSME

21. B Working backward from 1024, divide each number [e.g. 1024] by the preceding number [e.g. 64] to get the previous number [e.g. 16] in the list. Thus  $64 \div 16 = 4$ ,  $4 \div 4 = 1$ , and so on:

$\frac{1}{4}, 4, 1, 4, 4, 16, 64, 1024$

22. B Since Chris takes the last piece of candy, each person receives the same number of the other 99 pieces of candy. Thus the number of students at the table must be a factor of 99. Only (B) fulfills this condition.

23. B The rate will be the largest when the graph is the "steepest". During the second hour the distance traveled is about 500 miles, so the average speed during that hour is about 500 mph. For the other hours, the speeds are less than 350 mph.

24. C The second balance shows each  $\Delta$  balances  $\diamond \bullet$ . Replace each  $\Delta$  on the first balance with  $\diamond \bullet$ . Then after removing three  $\bullet$ 's from each side, the balance has  $\diamond\diamond\diamond$  on the left and  $\bullet\bullet\bullet\bullet\bullet$  on the right. Thus  $\diamond\diamond$  will be balanced by  $\bullet\bullet\bullet$ .

- 25 C There are 8. Be systematic. You can begin with the five cases that have one corner square. Then consider the other three cases that do not have a corner square.

